Discovery 2 Module 4 Exam Picture Descriptions
Refer to the exhibit. Host A is connected to the LAN
Diagram depicts a small network. Hos A connects to a switch wich in turn connects to a router. The router connects to a network cloud via a serial connection.

Host A config:

IP 192.133.219.33

Subnet mask 255.255.255.224

Gateway 192.133.219.30

The router interface connected to the switch has IP address 192.133.219.30/27

Refer to the exhibit. Which range of IP addresses would allow hosts
Diagram depicts a router connected lo an Ethernet network on fa0/0 IP address 192.168.1.65/27

Refer to the exhibit. R1 is performing NAT for the 10.1.1.0/24 inside network.

Diagram depicts a small network. Host A connects to router R1. R1 connects to router R2 via serial link. R2 connects to a webserver.

Host A IP = 10.1.1.2

R1 Ethernet address = 10.1.1.1

R1 serial address = 172.30.20.1

R2 serial address = 172.30.20.2

R2 ethernet address = 192.168.1.1

Webseerver address = 192.168.1.2

A table is included:

Inside local: 10.1.1.2

Inside global: 172.30.20.10

Outside local: 192.168.1.2

Outside global: 192.168.1.2

